1. ohe 7)o Fold 42 xet & ul, yi7h 5147 B v o] A4
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3. A kol Wiste] B o = 3(k + 2i) - k(1 - i)? 9] glol <3]57}
H 22 ko] ZHS o2

® -2 @0 ®1 @ 2 ® 3



4. (x=3)+ (y—-2)i=2+5i5 TFHdt= A5 x, yof tiste] 2x +y 2
e (Fi=v-1)

@® 10 @ 12 ® 15 @ 17 ® 20
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(a+3b)+ (a—2b)i =7-3i
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8. O AMNFEL ALY
@ 5ix (=2i) x i =-10i @ B+it+i5+i°=0
® V-8x V-2=4 @ V-2+ V-8=32i

® -16 o] AlF +4i



9. (1+3)(1-30)-(2-i)B+i) & ATA?

O 17-i @ 3+i ® 3-i @ 7+ ® 7-i
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11. V=3x V=6- V8+ V-4 & a+bi (a,b = A5) = JePHA?

D 2V2+3i @ -3V2+ V2i ® —2V3+2+2i
@ 2+3i ® 33






13, x=1+ V2iy=1-V2i & of, x*+y? o] gk-Z FopH?

O -1 @1 ® -2 @ 2 ® -3



® -3ix 45|40t}
@ 1-2i9 A BE44E —1 4 20|t

® 5 A% a, bol Bste] Hag o+ bi7h A47E Hel@ b= 0
ol ofof gk,



15. V-3. V-5& AAitetd?

@ V15 @ -+15 ® +1i5i
@ —+15i ® -15



